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weekOGPet.esson's algorithm problem instons get
reordered during

compilation modifying global variables

critical section problem

algorithm app
which lines in which section

happens even in single core systems preemption round

robin
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0 Hardware might mutual
have been exclusion

uniprocessors disable longer locks

interrupts for a short cont

while to not get preemption

multiprocessors similar

not feasible interrupts can be important

1 Memory barriers

Memory models strongly ordered weakly ordered

internally ensures reading from cache instead of memory
not popular slow architecture dependent
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CAS

compare and swap more powerful and expensive

expects intI
consensus

drawback bounded
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key 1

lock 0
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1 while true atHyderabad

1 set waiting i true I like flag
2 key 1 look0

the 03ʳᵈ
3 while waiting i key 1 1 It 1 waiters

1 key compare and swap lock 0 1

5
waiting i false

has to be

6 Critical section atomic

exit To be fair help others

next in loop7 set j 1 n

8 while j i waiting j of process not

1 8 8 1 n waiting checkext

until yo



9 if j i Altruism promotes

lock 0 sharedgrowth

else

waiting j false

10 Remainder section

Bounded but not fair
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waitmore



For fairness need common clock
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notjust
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atomic

Solution



increment atomic but not bounded waiting


